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1.

A farmer was ploughing the field which tumed the
soil upside down_ Read the statements given below
and selectthe correct alternative.

{a} It will damage the soil.

it It will improve air circulation in the soil

iz} ltwill help in the retention of the moisture.
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The diagram below is of a plant cell or an animal 2.

cell. Identify the parts A, B and C.

A Single cqf
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Which one of the following alternatives is correct ?
{AY Animal cell - plasma membrane, chromosomes,
nuclear membrane

(B} Plant cell - call membrane, plastid, nuclear
membrans
(G} Animal cell - cell membrane, cell vacuole,
protoplasm

(D% Plant cell - call wall, chromosomes, cell organelle

due to the difference in the structure and composition
of call wall. Looking at the diagrams given below
identify Vibrio bacteria.
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Patients suffering from Cholera, Tuberculosis,
Typhoid and Polio wera kept in the same room.
Drinking water and food were sterilized before
consumption. Which of these diseases is likelyto
be communicated to others ?
A Typhoid

{G} Tuberculosis

(B Ghaolera
(D3 Polio
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5. Which of the following statements are correct ?

a. Fertilizers provide inorganic salts to the crop.

b Fertilizers provide humus and other organic
nutrients to the crop.

¢ Presence of bacteria in pea plants raduces the
requirement of urea.

d. Excessive use of fertilizers makes the soil less
fartile.
fArb o d
{Cha, b, c

{Bya, cd
{Da, b,d

Excessive use of insecticides results in closed
stomatal pores in plants.

Which of the following life processes in plants are
directly affected by this ?

a. Photosynthesis

b. Respiration

c. Reproduction

d_Transportation

Which of the following is correct ?

fAra, b Bib, o

{Cic, d (D&, d

Heartheat rasults from the rhythmic contraction and 7.

relaxation of the muscles ofthe heart. Each hearbeat
generates one pulse in the arteries.

From the above two sentences we can say that
{Ay Pulse rate per minute indicates the rate of
heartbeat.

{B3 A higher pulse rate does not mean mors flow of
blood in arteries.

Which of the following is correct ?

{A) Only A {B} Only B
{CiBothAand B {D} Meither Anor B

Awoman was wearing a silk saree and awoollen &,

shawdl from Tibet and carrying a purse of Indian goat
fur.

Read the following statements.

a. Silk fibre is made up of protein and is produced
by silk worm.

b. Silk fibre is made up of carbohydrates and is
producad by silkkewarm caterpillars.

« Yak is an animal which produces wool.

d. Woolly dog yields very fine wool.

2. Goats are normally sheared during winter season
when hairgrowth is maximum.

Salect the alternative which includes all the correct
statements.
(Al b, d
{Cla, b d, e
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1. Sewage including human excretamay be properly 11, Mg W Wi aftarza 7= w1 2t 738 fuemr

12.

disposed by
a.Wermi-processing of human excreta

b. Transferring it directly into a biogas plant

¢. Draining it diracty into a river

d. Transferring into septictanks

Which one of the following includes all the correct
answers ?
{Ava b o
{Cra, o, d

In forests, the humus

{Adis produced from dead |eaves by decomposers
{B) provides a method to release nutrients from dead
plants and animals

{Ghis & very good source of nitrates and phosphates
(D} is respansible for making soil acidic

Select the correct alternative from the following :
{Ara, b Bib.c

{Cic,d {Dha,d
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